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QUESTION 1

What does the command show | compare rollback 1 display? 

A. the difference between the current candidate configuration and the candidate configuration from one commit ago 

B. the difference between the current active configuration and the current candidate configuration 

C. the difference between the current active configuration and the active configuration from one commit ago 

D. the difference between the current candidate configuration and the archived configuration from one commit ago 

Correct Answer: D 

 

QUESTION 2

Which statement is true about terms in a policy? 

A. A single term can be applied to a protocol or interface, independent of the policy. 

B. Once configured, terms within a policy cannot be reordered. 

C. The name of a term is limited to five characters. 

D. A from statement is optional in a term. 

Correct Answer: D 

 

QUESTION 3

Which two statements are true regarding rescue configurations? (Choose two.) 

A. Once saved, a rescue configuration is loaded using the rollback 0 command. 

B. The rescue configuration must contain the minimal elements necessary to restore network connectivity. 

C. A minimal rescue configuration is defined by default. 

D. A rescue configuration must include a root password. 

Correct Answer: BD 

 

QUESTION 4

For the interface ge-1/2/3.4, what does the "ge" represent? 

A. Gigabit Ethernet 

B. SONET/SDH 
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C. Aggregated Ethernet 

D. GRE 

Correct Answer: A 

 

QUESTION 5

-- Exhibit -

user@router> show route protocol static 

inet.0: 15 destinations, 15 routes (15 active, 0 holddown, 0 hidden) 

+

 = Active Route, - = Last Active, * = Both 99.0.0.0/17 *[Static/5] 00:00:11 >to 10.1.1.2 via ge-0/0/1.0 99.0.0.0/19
*[Static/5] 00:00:11 >to 10.1.2.2 via ge-0/0/2.0 99.0.0.0/24 *[Static/5] 00:00:11 >to 10.1.3.2 via ge-0/0/3.0 99.0.0.0/26
*[Static/5] 00:00:11 >to 10.1.4.2 via ge-0/0/4.0 -- Exhibit -In the exhibit, there are four static routes that route traffic
through different interfaces. Which interface does the router use if traffic is sent to the 99.0.0.1 destination? 

A. 

ge-0/0/1 

B. 

ge-0/0/2 

C. 

ge-0/0/3 

D. 

ge-0/0/4 

Correct Answer: D 
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